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Algebra 1

Topic: Adding and Subtracting Polynomials

Solve the following problems by adding or subtracting the polynomi-
als. Show all steps clearly and check your solutions.

Practice Problems
1. Add the polynomials:

(i) (3% + 5z +2) + (42® — 3z — 6)
(ii) (2a®> —3a+5)+ (3a® + 4a — 2)
(iii) (5m?* +7m — 1) + (3m? — 2m + 4)

2. Subtract the polynomials:
(i) (6% =3z +4) — (222 +x —1)
(i) (5a* —4a +6) — (3a® + 2a — 5)
(iii) (4m*+3m+7) — (2m* + m+ 3)
3. Combine like terms:

(i) 622+ 3z — bx* + 2x
(ii) 4a* —3a+ 24>+ Ta — 5
(iii) 5m? + 3m — Tm?* + 4m + 2

4. Simplify the following expressions:
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(iv) (2*+222—2+6)+ (23 —32%+42—2)
(v) (6y* =5y +1)+ (24> + 3y — 4)
(vi) (42% + 6z + 8) + (22% — 3z +5)

(iv) (2234522 —3z+8)— (23 —22*+x—4)
(v) (Ty* +4y —3) = By* + 2y +5)
(vi) (322 =22 +7) — (2® + 42z — 3)

(iv) x® + 22% — 32% — ba? + Tz
(v) 6y* —4y+3y* +2y —5
(vi) 7T2? + 3z — 4z* + bz + 2



(i) (22% +5z) + (32? — 2z + 4) (iv) (23 +42?—2z)+ (22° — 322+ 5z +7)
(i) (3a*+2a—17)+ (a®* —4a +5) (v) (6y* —2y+4) — (3y* + 5y — 2)
(iii) (4m? —m+6) + (2m* +3m —8)  (vi) (72?4 2z +3) — (42® — 3z + 1)

Multiple-Choice Questions
1. What is the sum of (52% 4+ 3z — 1) and (42* — 2z + 6)?

A 92> +2x+5 C. 9224+ 2+6
B. 922 + 2 +7 D. 922+ 2z +5

2. What is the result of subtracting (322 + 4z — 2) from (5z* — 3z + 1)?

A 222 —Tr+3 C. 822 +z+3
B. 222+ 7z —1 D. 82 —x+3

3. Simplify the expression (222 + 4z — 3) + (5z? — 2z + 4).

A T2+ 20 +1 C. 722 +6x +4
B. 722 +6x + 1 D. 72?2+ 2z +4

4. What is the difference between (422 + 3z — 2) and (22? — z + 5)?

A 222 +4x -7 C. 2224+ 42— 3
B. 222 +4x + 3 D. 222 +4x+7

5. What is the sum of (3a® + 5a — 4) and (2a* — 3a + 6)?

A. 5a®+2a+2 C. ba’?+8a+3
B. 5a® + 8a + 2 D. 5a% + 2a + 3
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